NEREEBE (BF) 9:00
R B

Pt K4 ZYHT || gid4 | 1 BGE| 2 EGH| 3 EGE| 4 EGE| 5 EGH| 6 EGE| Foek |JENr
L{s7 | EWJ)I | rthTy vy | 6 | Sk L] 3m86 +0.2|3m55 +0.2|3m10 +0. 1|4m03 |+1. 3|4m10|+0.5|4m09 |+1. 3| 4m10 | 5
2|33 | AL A&RE | /5F vav¥4| 6| URC  [4m00 +0.6| X 3m73 0.0 | X 4m18| 0.0 [4m22|-0.2| 4m22 | 3
31653 | AMf FEK | /K Va9d | 6 | —iEBeast|4m09 0.0 [4ml4 —0.0| X X 4m15| 0.0 [4m21|+1.1| 4m21 | 4
4|87 | A BEE | FhAT Vaulb | 6 |FABRAESA|3m47 0.0 [3m09 +0.1|2m64 —0.3 3md7 | 10
5|tz [ B HEH |18 favey| 5 |RABRER DNS
6|68 | P BA | V) adh | 6| J&EAJE[3m38 0.0(3ml2 -0.1| X 3m38 | 12
74527 | =K SLER RE L0 2 IR K RN Y 3m34 +0.0| X 3m34 | 13
81552 | KT ZRA | ¥V WFh | 6| ~iEBeast|4m78 -0.3| X 4m98 0.0 |5m01|+1.5|4m86|+0. 9 [4m69|+0. 0| 5mO1 | 1
9569 | ZxE AME | ®)F 744 | 5| -iEBeast|3m20 0.0|3m25 +0.0|3m40 +0. 1 3m40 | 11
101571 | #epg BZ% | #1947 | 5| —Beast|2m91 -0.4[2m76 +0.0|2m80 +0.1 2m91 | 16
11631 | 224 Besk | hvf= vk | 5 |werr o7 DNS
12]1155 i BRSOV T¥)77 | 6 [@watiRe| X 2m06 +0.0[2m10 0.0 2ml10 | 18
13|1310 | B B | 2p= avak | 6| £43ETr |3m04 0.0| X 3m29 0.0 3m29 | 14
141470 | R FEA | VR A V9AF| 5 | JREAJE |3m72 0.0 |3m55 +0.4|3m60 +0.7|3m58|+1. 1|3m50|+0.3|3m52] 0.0 | 3m72 | 8
15[ 1469 | HEF 1L L | Ehre ¥2F | 5 | JREAJE DNS
16]1286 | fEH fES | 778 fvaT |6 |[REBFR C[4m26 0.0 X 4m09 +0.3|3m98 [+1.0[4m29| 0.0 [4m39[+0. 1| 4m39 | 2
171815 | FEs HIEL | 79v< Vs | 6| JACHIL [2m80 -0.2(2m56 +0.1|3m03 +0.1 3m03 | 15
18|1818 | B B | 424 44 | 6 | JACAIL|3m74 0.0|3m52 +0.1|3m76 +0.6|3m89|+0.6|3m90|+1.0|3m61|+0.7| 3m90 | 7
191820 | Wb BZ2 | pvz Y7 |5 [JACEIL| X 2m17 —0.5(2ml1 +0. 4 oml7 | 17
20(1s11 | EHE WA | AbTt owE | 6 | JACAIL DNS
21[1315 | R4 FHH | A44= 98 | 5| 448ETr [3m62 -0.1{3m52 0.0 |3m45 0.0 3m62 | 9
220427 | F I FLKER |74YY hvheg| 6 | FEFSC | X X 3m74 +0.5| X 3m98 [+1.0| X 3m98 | 6
MNEREREBE (ZF)  12:00
R B

st K4 ZYHT || g4 | 1 [BGE| 2 [EGE| 3 [EGE| 4 [EGE| 5 [EGE| 6 |EGE| sk |ENr
1(1397 | Mg HRAE | vAF wEh | 6 |[RABRGER| X 3ml12[-0. 1|3ml18|+0.0 3m18 |+0.0
2 (1384 | =Hm E73 Wt | 6 [ARBRAER| 2m27] 0. 0| 2m39 | +0. 0| 2m59 | 0. 0 2m59 | 0.0
31545 [ £ BEMK | MATU U4 | 6 |—iBeast|3m69|+0. 4| 3m68|—0. 0 |3m72|—0. 6 | 3m88|+0. 9|3m91| 0.0 |3m70{+0.6| 3m91 | 0.0
4 (566 | itk BA | 9nTYY VF| 5| iEBeast|2m94 |+0. 8|2m87|-0. 7 [ 2m80|-0. 2 2m94 |+0.8
51383 | HHEL FRE | FA N U4 | 6 |[FABRAER| 2mdT | +1.2(2m70|-0. 5| 2m62 | 1. 4 2m70 |-0.5
6 (1399 | HlE  HEARER | Tht 74V | 6 [FABKEA| 2m80 |+0. 4| 2m81 | +0. 2| 2m41|-1. 4 2m81 |+0. 2
7o | AR BR[| ATHY F) |5 [RABGER| X 2m51|+0. 5 2m51 [+0.5
8 (161 | FKH MFEF | A4 TYh | 5 |@wwaiire|2m49|+0. 2| 2m58 | -0. 9 2m58 |-0. 9
9|ues | KA W | A fon | 5| @wsiEre| 3m26|+1. 6] 3m25|-0. 9 3m26 |+1.6
10|66 | Bk SEE | A9z W |5 [@waiERe| X 3m31[+0. 4 3m31 |+0. 4
11167 | Mo BeE | A2 F 2| 5 |@wasERe| 2m79|+1. 2| 3ml5|-1. 5 3ml5 |-1.5
12(544 | WA ZEHE | AT VAV | 6| -iBeast| X 3m09|-0.6| X 3m09 [-0.6
13546 | FF| hrls | ) =2 | 6 [—iEBeast|3ml7[+0.9|3m59| 0.0 |3m19|+1.3| X X 3m59 | 0.0
14(548 | dbiE O | #43F 33w | 6 | -Beast|2m88|+0. 4|2m82| 0.0 | X 2m88 |+0. 4
15564 | FAA BEEE | <UEh 74) | 5 |—iBeast|3m33 [+0.0[3m30[-0.6| X 3m08| 0.0 [3m34|+0.2| X 3m34 |+0.2
16(659 | PEIL 72> & | =v¥v V% | 5 [mueks 57| 2m93 [+0. 0| 2m85 | -0. 2| 3m19 | -0. 1 3m19 |-0.1
17|4386 | dbH A | #5740% | 6| B/ [3m35[+2. 4] 3m38|-0. 5 3m38 |-0.5
18(655 | KifA EZS 23273 a9t | 6 (ks 57| 3m68 [+0. 4| 3m72| 0.0 |3m72[+0. 5|3m68|+0. 8|3m67 | 0.0 |3m55[+0. 6| 3m72 | 0.0
191654 | ZRF GRE | V4 * |6 [t 57| 3m78(+0.0|3m81| 0.0 |3m84 [+0.2|3m75[ 0.0 | X 3m57|+1. 8| 3m84 |+0. 2
20[462 | #hiA =3 | A% =F | 5| FKEFSC |3m17|+0.2|3m32| 0.0 |3ml16|+1.0|3m26| 0.0 |3m29|+1.0|3m44| 0.0 | 3m44 | 0.0
21(1833 | AH MK | M ¥4} | 6| JACEIL|[3m20(+0. 7[3m35| 0.0 [3m25|-0.1{3m38| 0.0 |3m50|+0. 1|3m51|+0.8| 3m51 |+0.8
221836 | AAA;  FEEEAE| vVA7 x| 6 | JACHRIL | 2m35|+1. 2| 2m46|-0. 7 |2m38 | +0. 2 2m46 |-0.7
23(1839 | T EMEEUT| 40 323 | 6 | JACILI | 2m94|-0. 1]3m17|-0. 2|2m97 | +0. 2 3ml7 |-0.2
24(1810 | 4T WH2| 9F4 AFh | 6 | JACILI | 3m20|+0. 8| 3m31|+0. 6 | 3m28|+0. 3 3m31 |+0.6
251841 | T ZEEH | A by | 6 | JACE L | 2m47 |+2. 1| 2m57 | +0. 2| 2m19]| 0. 0 2m57 [+0.2
26(1847 | Fdm  #Hizk | vin )7 | 5| JACRRIL| X X 2m29| 0.0 2m29 | 0.0
27(1848 | WTHF 00K | <F) a2 | 5| JACHIL|2m61|+0. 0| 2m54 | 0.0 |2m44|+0. 9 2m61 [+0.0
28(1849 | B A |44V 7y 2| 5| JACKIL [ 2m18|+0. 1] 2m43] 0.0 |2m11|+0. 7 2m43 | 0.0
29(1851 | PHRB WLEE | =yt =F | 5| JACEIL|2m64|+1.8|2m20|-1. 0| 2m49| 0. 0 2m64 |+1.8
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